[image: https://lh6.googleusercontent.com/Ad0V9lGJ5Nf3cpUw9tg2rwc5zBut01l6JCxpTIgvWqUjyrPv3xvrVmkDfyqS_m8G5Kc4_4EtXZbK8keeryR44z3zN24Giw5RI9sZTNxfqQfssfWVnEf6L6q4Rphj7xw5vVDSLXsS]




[bookmark: _GoBack][image: img-228151414-0002.jpg][image: img-228151415-0003.jpg][image: img-228151415-0004.jpg][image: img-228151415-0005.jpg][image: img-228151416-0006.jpg][image: img-228151416-0007.jpg][image: img-228151417-0009.jpg][image: img-228151417-0010.jpg][image: img-228151418-0011.jpg][image: img-228151418-0012.jpg][image: img-228151419-0014.jpg][image: img-228151420-0015.jpg][image: img-228151420-0016.jpg][image: img-228151421-0017.jpg]
image7.jpeg
Station 6 \o @9'

Answer the following questions hased off of the microscope
on the table

1. What kind of microscope is this? (1 point) c,o‘mpC\)(\d light
MCNO5CoPe
2. What is its maximum magnification? (1 point) g siy0y

Name the labeled parts of the microscope and their functions
using the terms from the word bank (1 point for correct, 1
point for correct function=2 points each)
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Answer the following questions based off of the microscope
on the table

1. What kind of microscope is this? (1 point) A\ ssectiNg MicOsceq
2. What is the total magnification on the marked lens?

(shpw work and expvlain) (lwpoint) W’e?‘ LCeX O 3@(}\\& NS =
28x - 10x = gy 10x FOTON VOO (o0
3. Circle which 3 specimens would be approprlate for this
microscope (circle all correct answers) (1 point for each
correct circle=3 points possible)

Virus Bacteria

. - N
Prion Sheep eye
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) 1. Plant Cells contain which of the following? (1 point)
A. Cell Walls
B. Chloroplasts
C. Central Water Vacuoles
II of the above

6 2. Which microbe is non living and contains genetic material? (1 point)
A. Protists
irus
C. Bacteria
D. Prions

% 3. Which of these is not a type of protist? (1 point)
A. Plant-like protists
Algae-like protists
C. Animal-like protists
D. Fungi-like protists

A 4. MRSA is caused by (1 point)
Bacteria
B. Fungi
C. Parasitic worms
D. Viruses

A 5. Some bacteria produce a type of organic polymer known as PHA. How can
PHA be used to our benefit? (1 point)
Used to make durable, biodegradable, plastics
B. Make Ethanol
C. BothAand B
D. None of the above
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% 6. What is bioremediation? (1 point)
A. Bringing people back from dead
Using bacteria to clean up oil spills
C. Making ethanol
D. The difference between microbes

C 7.Wnatis a viable cell? (1 point)
A. Adead cell
B. A cell without genetic material
@ A living cell
D. Invisible cell

D 8. What is yeast? (1 point)
A. Bacteria
B. Protist
C. Plant
Fungus

C, 9. What makes archaea different from eubacteria? (1 point)
A. Archaea divide through mitosis and eubacteria divide through meiosis
B. Eubacteria are derived from eukaryotes
@ Archaea can survive in extreme conditions
D. Archaea are derived from eukaryotes

D 10. Which of the following statements about this picture is
true? (1 point)
A. It can reproduce on its own
B. Itis a living microbe
C. Itis pyrogenic
@ It does the lytic cycle
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1. What is the approximate size of this microbe in
micrometers (um)? (1 point)

500 um  (Mmicrometeys)
2. What is the approximate size of the field of view in
micrometers (um)? (1 point)
1300 MM (micronmerers)
3. What are the names of the hair like structures on the
microbe above? What are they used for? (2 points)
-cilia

%« - filter  OUY pathogens %
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Write next to each disease the type of microbe that causes it
(Bacteria, virus, protozoalalgae, prion, parasitic worms,
fungus) (1 point each)

1. Botulism Boactenia
2. Dental Caries BOCTE\(\

3. Paralytic Shellfish poisoning Profn mrm[gl% ae

4. West Nile Fever Vi Y\S

5. Cryptosporidiosis Pcarozoo / Q\%cxg
6. AIDS_\1\\) S
1. Ergotism VS

8. Potato Blight -ﬁmq; NS

9. What body symptom does polio affect? (2 points)
e nervws  system

10. A child has swelling in their salivary glands, causing
soreness and pain while swallowing. It is easily preventable by
vaccine. What disease do they have? (2 points)

Mumps
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1. A potted plant is sitting in a window sill. Plants do
photosynthesis. What 3 things are needed for
photosynthesis to occur? (3 points)

H,0 + CO, + Sunhont

2. What is produced during cellular respiration? (2 points)
ATP (2pontd

(1 penk for H,0+C0,)
3. What is purpose of photosynthesis? (1 points)
Make  glucose /§oad #oy plant

4. What is the name of the type of cellular respiration the
requires oxygen? (2 points)

xobiC  (espivation

5. What is released into the atmosphere during
photosynthesis? (1 point)

0, ’ Oxygn
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Write at least 1 similarity and 2 differences between Prions

and Viruses (1 point for each similarityldifference= 3 points)
NIYND Yaon

Write at least 2 similarities and 1 difference between
Eubacteria and Archaea (3 points)
Euoackona Avenago

- cown Lve
N Ltvewme
QAW SWUNXS
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Constructive Response

This is an Ecosphere. It is an enclosed ecosystem. Ecospheres
are placed on window sills and can last for years. In the typical
Ecosphere, you will find Brine shrimp, which is an animal,
algae, and bacteria. Describe how these organisms interact to
maintain a stable environment and survive for years. (5
points)

Sunhght gives energy to algae For pheto -
syntnesis, Algoe froduces Oz foy Bvive shrimp,
Brne shrimp preduce (0 and  Wagte, wogte
vsed by bacterida 10 make nyirients for
algag. COq ¥ advced \oy SWrimg  and bacterig
is used oy a\gae  for phcicsynthesis
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Look into the microscopes

1. What is the blue part of the frog blood cell? (1 point)
nuclevs
2. Why does the frog blood cell have this blue part, and the
red blood cell doesn’t? (hint: think about what a red blood cell
does) (2 points)
ted biood cells need +o be smaller +o
Bk throygh small spaces uike capillatres

3. Are red blood cell@r prokaryotic? (1 point)
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Match the names in word bank to the labeled organelles (1
point each)

A__Nccleos __ER
. B.__Mitnchondrid E._Ribosomes
C._Solgi Apparatts F.__Membrane

WORD BANK (not all words will be used, write name in
provided blank)

Golgi Apparatus Chloroplasts
Endoplasmic Reticulum (ER) Membrane
Nucleus Centrioles
Mitochondria Ribosomes

Short Answer: What is the function of the mitochondria? (2
points) ¢ onwery ADP intc ATP/make ATP
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Match the names in word bank to the labeled organelles (1
point each)

A.Centro) Woter Nocuelr  D.MuOChondria
B.CWovoplast  E.Coigi Appavartls
c._Cell Wall

WORD BANK (not all terms will be used)

Central Water Vacuole Nucleus
Golgi Apparatus Mitochondria
Chloroplast Ribosomes
Cell Wall Centrioles

Short Answer: What is the function of the chloroplast? What
are 2 things that the chloroplast has that many of the other
organelles do not? (3 points)

- Converts suplignt evergy ™10 glucese

-MULTIPLE ANSWE RS
-“nlovopglt  — taylakeids and grang
-DNA -5pace Wside = stvomg
~double mewm prang
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Determine whether the statement is true or false by writing T
or F in the blank (1 point each)

1. TIf) Viruses are alive

2.(TJF Bacteria are decomposers

38F Schistosomiasis is caused by Parasitic worms

4, T@ Dengue Fever is treated by Penicillin

5.(IF Prions can only exist in the brain

6@F Thrush can be treated by unsweetened yogurt

1. T@ Transmission Electron Microscopes produce 3D
images

8.@F Electron microscopes cannot view live specimens

9.@F 1 millimeter is equal to 1000 micrometers

10. T@ The Log Phase is where the cell population has
peaked, and there is little cell growth
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PAM

9 Guide RNA
sequence [

Matching genomic - Cas9
sequence
Genomic DNA s s

The CRISPR Cas9 protein can cut any sequence of DNA to
which it is directed by a guide RNA. A Cas9-guide RNA
complex can be introduced into any cell that needs to be altered.
The repair enzymes can add or remove nucleotides.

How can CRISPR Cas9 be used in relation to diseases caused
by mutations in DNA? (3 points)
I+ con +4ake out  bad/incevred/ mytated
DNA , andh  veploce i+ with good
ophcna\




